PRELIMINARY EXAMINATION 2022
PRIMARY 6
SCIENCE
SECTION A (56 MARKS)

Follow aff insfructions carefully.
Answar all questions.
Shade your answers on the Optical Anawer Sheet (OAS) provided.

( )

Total Time for Sections A and B: 1 h 45 min

Sections
A
B
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Bookist A {58 marks)

For aach quastion from 1 o 28, four oplione are given. One of tieim i the comect Answar.
mmma.a.am}.mwmwu.mommmwmm

1.  Soms animals are classified info four groups, A, B, C arxi D, as shown in
the table balow.

"_“""‘"‘ hiss no Wings

lays agge A B
Ldoss not ley egge c o
The diagrame show animals M and N.

Anloal M Ardmal N

Baved on e indormation given, which of the following classifioation of
animals M and N & correct?

| — Anknel® | 00 AndnalM 0
| |

0

(4

(=
o o o b
e o b
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2, Study the two groups of animals shown below.

Whidh of the folowing doscribes the animals in groups & and F conectly?

1)
)
&
)

“Group B Growp F
Lays oggs In nezz;:&t Lays sggs in mm
Yas No No Yoo
No Yoo Yo No
Yes Yes No No
No No Yes Yeu
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3, The disgram shows how food fravais in the digestive system.

4,

R

P p4 stomach

Q

Basad on the diagram, which of the following Is correct?

n
)
<)
%

Based on the information given, which of the following is correct?

diraction ink drop moves |  gas sxchange taking place in the af
{ - - taking in cxygon, giving out casbon dixdde
@ - taking In carbon diciida, giving out cxygen
@ L taking in cxygen, giving out carbon dioidde
o — taking in cartion dicids, giving out cxygen

3
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5. Study the diagram below. A, 8, C and [J are blood veasels.

A R heart _
Lc
D other pasts of
g |. - L_

Which one of the statements below is comrect?

(1) ‘The biood in A e rich in cxygen.

(2} The blood in C does not catvy any carbon dicxdde.

(3) Tha blood in B has more cxygen than the biood In C,

{(4) The biood in O hes lesa carbon dioxide then the blood In A,

8. mmmmm-mammmaamm
produces the mals reproduciive colis.

K
o onda ovaey
S — b
3 polien graln -
(4) polien {(ran ovary
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7. The diagrams below show the two celis Invoived in the reproduction of

n

{2)

()

{4}

humana.

Cel X

Yihich of the folowing teble gives the cormect information about cells X and

ColLY

Yt
Information Cell X Coll Y
Name of col ogg sperm
Where is k produced? ovary toutis
Information Cell X Call Y
Name of cell 09 sperm
Wihwre s & produced? tantis ovary
Waformation Call X Coll ¥
Namne of cell aponm o0
Whera i8]t produced? watis | overy
information Goil X Cell Y
Name of cell sporm etg
Where is it produced? overy toetis
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8. The diagram below shows the similarities and differences betwoen a humen
choak coll and & hydrilla leaf coll.

%‘)\
contping oonting
stk oot | ————— [ owcious | e[ hyciitatont

human col

doee oot have o has

Which one of tha following oorraotly represants A and B7?

A 8
(1) cyloplasm cell membrane
7] chioroplast cell membrane
@ coll wall chioropiaat
) | col membrane coll wak
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Study tha Bowchart balow.

food w st sl

undigesied food wyslen P
eutc!bndy | digested lood gasY
systomQ )<
ol perts of the
body

Wiich of fhe stefements below islar comeot?

A GasYisoxygen.

B System Q ks involved in gaseous exchangs.

G System P Ia invoived In the abeorption of simpia substances.
{1) Aocny

(2} AandCony

(3) BandConly
4] ABamC
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$0 The diagram below shows the school pond.

When the population of plant C increasad, how wit the rest of the plants most
Ekely to be affected?

"~ Dhearvation
+ Oy o popualion of plart & will Go0roass, he rest of the plants
{1} remein the same.

"Bofth the poprdstion of piark B nd £ Wil decrease, Pt A and D |
@ . will remain the same,

"o populalion of plart A and O will norease bu plant B and €
) will decrease,

Five papuletion of plant B and € Wil INcreass, piant A and D wil |
@ sarnalin the same.
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14, Rajuwentad to study the qualily of tho water st tha upper steam and lowor
siream of the river shown i the diagram below.

~

L J
-
S a— Foiut

" He placed a coln at the boliom of & contaler. Then he poured waler from the
upper siream into the container until the colr coukd no ionger ba seen from the
top. He mansunad the height T of the welse.

wmmwmﬂnmmmmmmm
similar container and coin,

water from: the Vel ausmeddurs = s o

W WA V. e

o - height ' of walor

cordatner - -

Cuestion 11 continues on the next page
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Quastion 11 continued

Which of the following graphs shows comectly his observation?

(1} HeightW (om) (@) Helght'W {em)
» :
upper fower
uppr lower breat froar
Part of river Part of rdver

(3} Height *h’ (cm)

Iy Helght ¥ {em)
3 1 >
upper lower upper  lower
stroan stream siroam stroam
Part of diver Part of river
10
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12. Sty the food web shiown below.

v
\.............__..,.../

Based on the food wab, which of the following statement(s) isfars comet?

A Eis a food prodiuoer.

B H, K and M are predstons.

C P, J; K and N are herbivores,

D G and L are both predator and proy.

{1} Aonly

&) AsndGonly
{(3) ABandDonly
(4} B.Cand D only

L)
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18. In 2 Seaf itter community, the populetion of decomposars wilt fikely Increses If the

A hsbilat ts more moist

B rotiing lsaves become dry

C exposurs 1o sunight is grealer

D ak inside k has more waker vapous

(1) AandConly
(2) AandD only
{3) BandConly
{#) A,BandConly

14. Arnesaw bird P parching on a branch and foeding by cracking & mi.
The diagrae below shows the beaks and feet of seome birds.

B

Which type of haak and fost shown gbove most ikely belong o bird P?

Beak Feet
{n A B
@ 8 F
{8 8 D
{4 T []

12
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18,  Magan conductsd some axpariments to find out more about the properties of
materials X and V. The dlagrame show the exparimonts she concdkcted and
what she obaarved. -

Material X

1] s _[§
f

Q= L=

' w
maleria X _lc
. Exparioant

2

Expenioent {
Matesta) Y
— 1]}
| bt o adacion
b -
E‘::] D
masoniel Y eatacied Y
Experirnant 1 Expedenent 2
Based on the resulls of the axperiment, which of the folliming is coract?
Material X ModeripdY =
(M. aluminlum glase
2) aluminkm ool
@) stont sominkey |
(#} steel Seny
13
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18. Sue measured the tamperatwe of the walar before and after heating k.

Diagram X shows the lemperature of the water bofore it was hested, Diegram Y
shows the tompacahure of the waler ater X wes heated.

100 .l 100}
o 1
) | N
| s
ff f
o ok
‘o § R i
off off
Diagram X Diageam Y

Byhuwmdadﬁﬂumamduaemmmummm

(1) 25%C
(2} 30C
(3} So%C
) 65°%C

14
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17 mmmmammm1@cm4mmm

X, Y and Z, mads of differant materdals, The containers were left naar an.open
window during the experiment.

Afier 6 minutas, the temparaturs of the waler In aach container is measured and
racordsd In the bar graph shown below,

X

torrperaiive §
of wihor seftor
8 minutes
+C)
@h
18““*&-
? l ? -
w ' Y Z

Basod on e resulty, Betly condaded that materiat W is the best conducior of
heat and matedat 2 Is the poorest conducior of heet. -

What wif be e Skely ternperatine of wader in the containers mede of malerials
W and Z after § minutes? '

(1) temperature §
of waster aftor

<)

2
15
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{4) tomparature 4
of waket efter
5 mimsoe

m25

18
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18, Dorothy used two wooden blocks, E snd F, of different heighis t knvesligats the
length of shadows.

The diagram shows the shadows of biocks E and F projecied on-a soreen dring
Dorothy's expariment, '

Shadows on the scroen

Basad on the diagram given above, which of the following shows Dorothy's
sxpariments seb-up?

()

17
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Question 18 continued

(3}

@

t8
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19, The diagram below shows 2 deftated balioon fixad to an 8if pump.
mmmmmmmmmwm%wwm

To pumg 100 om® of sl into the delletad balloon, Man! tried to push the piston
{nto the purmp.

Which of the following witl be observed?

The balioon will inflede.

Fha plston cannot be pushed,

Waler in the cyinder will overBow.

Volume of water in the cylinder remains the same.

20O & >

{1} Aonky

) Boy
3} Aond Cony
(4} BandDony

19
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20. Study the flowchart bolow.

~Solid Tiquid G
0 A B ©
@ 8 ¢ A
@ C B A
@ c A 8
20
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He moasured the distance the block moved after mlsasing the spring.

He repsated the experiment using blocks made of the same malerial, bt with
difforent mass and sres of contact with the table.

His rastits 8o hown below,
" Biock | Mass () | Ares of contact with | DIstancs moved
the table (om?) {om)
T F 30 00 T
0o 40 00 9
H 40 150 )

Basad ot the resuls given, which of the followly statemants tira cormect?
Tha mies of the block afocts the distaros moved.

The mass of ths block does not affect the: distance moved.

Tha area of contect with the: table affools the distance moved.

The srea of confact with the tebla does not affect the distance moved,

g O W >

() AmdC
(2 AandD
3} BandC
“) SadD
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25 Al constructed the slectric circult sy shown below.
W

o
X
@
-
Which one of the following i correct?
"~ Hb ises | Bulbis) thet can stil light up
m W X onty
@ X Wonly
@ Y X and Z only
@ w3 X end ¥ only
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25, Jorden set up the expariment as shown below using two kisniical beakats, A and B.

Afer 30 minutos, bieker A has less walor than beaker B. Jordan conuliudes that the
prasancs of wind inoremses the ralo of waler eveporating,

Y.

Suukar A In 30°C rooim Boaker 8 In 38°C roam:

Jorden's acience teacher tokd him that he shoulkt meke some changes 1o hie confrol
ool .

How con Jordan improve his axpatimant?

A Remove the styrofoas: from besker B.
B Pecs iwo fans that are swiiched on beslde beaker B,
C Pacs besker A outdoors and place baeker B indoors.

(1) Aonky

(2} Bonly
(3} AendBonky
(3 ABadC
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24. The diagram boicw shows & ball travelling along & cletutar frack.

Y

Al mad the folowing siatorents sbout the setLD.,

A There Is more gravitalional force atY then st 2.
B Theve is more potential enargy than kinelic eviergy t Y.
c nxmwkmmwwwhm

Which of the above stetoments Is / ane comact?

{1} Aonly
(@) Bony
{3) AsndBonly
(#) Band G only

More papers on SeriousAboutSchool.com/OnlineExams


More papers on SeriousAboutSchool.com/OnlineExams


28. Jonathan used a sharp plr fo plerce an inflated balicon and it burst ink seversl
ploces with & loud ‘pop’ sound ss showen below.

Which of the following comectly shows the energy conversion in the bafloon?
(1) Kinetcensigy ——» Sound enangy + Heat energy

{2) Kinatic onargy ——a Poleniial snsigy + Hoeat shengy

{3) Potentisl energty ~—pe Kinatic energy + Sound enengy

{(4) Potontial energy ..y Kinotic energy + Hoat enengy

28. What i/are the foroo(s) acting on the wonden ball as it rolls down the ramp?

A Friotional force

8 Magnetic force
C  Gravilational force

(1} Aonly

{3) AendConly
4 ABandC
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27, Stephen set up an expurimond as shown i the diagrems below.

Vhert the swiich is closed, object X movas up the glass comtainer.

Which one of e following sialeenents is carract?

(%) Distanos A decreases with mora belterias in the Gircult

3 There ks no foroe acting on object X when the switch is open,

&) There is only frictional force acting on object X when the ewlich Is open.

forcos on X when the
@) m:nnmmmm soting o object
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Which one of the following statoments is comoct?

(1} Spring A is stiffor than spring B.

(2} Spdng B exiands more than spring A when the bad s 10g.

(3} Spring Ais longsr than spring B when 0o foad Ia hung on it

(4} Spring A and spring B have the same length when the oad ia 20 g.

END OF BOOILET A
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I L ERL e D I AN FAILALIA L o

. Do not tum over this page untli you are told to do so.
2.  Foliow all instructions carsfully,
3.  Answer all questions.

Name:
| Class: Primary6( )
1 Date: 23 August 2022
Total Time for Sections A and B: 1 h 45 min
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Bookiet B (44 marke)
Write your answers to quesions 20 o 41 in the spaces given.

8. the cdiagram shows parts of a fiowering piant and their functions,

[ Putsolafiowetingplant |
(st ) froit O .
holds the .
| e | e, | o
ground
{a) What are the paris iabelled G and H & the diagrem above? 1
PartG:
Part ;
()  Stste one function of the siam. | | (1
Pleass do nof write in the margin.
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30, The diagram shows the Mecycie of a bullerfty.

®)

{1l

Frult trees, vegetables and bufterfiies make up & communily in & fam.

The farmer sprayed pesticide on the vegetables when he found that they
wers saten by caterpiliars,

Stals and axpiiin how the use of the pestiolde would affect the number (2]
of frufls produosd in the farm.

Please do not write In the margin.
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31.  The diagmm shows snimal Y,

(s) Isanimal Y an incacl? Give a reason for your anawsr. il

Re wantad 10 find out the sultable iving conditions for animal Y. He set
up A tray as shown balow.

biack cover

\ - d..'\m mg{ﬁy | ﬂ

()  From the resulls, siats one characieristic of Bving things observed from ]
- animal Y's behavious.

(c} After setiing up the sxporimenl, Raj walted for 30 minules bafors [T}
rooording the results. Expleln wiy.

(d)  Expisin how the behaviour of animal Y would help them fo survive inthelr (4]
rvaburek habitet.

Pisase do not write In the mangin.
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- | 0 8
| tet
;: sbe 7
TR et |
03 65 I — 5
. -w
Y setup B

{8} Afiar 30 minutes, thare were bubbles produced by the hydeilia.
Name the gas collecied In the teet tube. {1

(b) Wa&wwﬂmmmmndgumhwdmumw [f]
Give a reaaon for your answer,

(c) Suggest ancther way Rainer could increase the volume of the ges 1]

() How can Rainer incranse the acouracy of the results obisined? i1

Pisase do not write in the margin.
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33.  Tha diagrams show birds Xand ¥,

Bird X
mxmmwmmmtumanmmvmmmuw
and fosds on bird X.

The graph below shows the population: of bird X over 5 yaars in the wild
as woll 58 in (he cliies.
Populstion of bird X
T _ in cilios
f E ; } —

206 2017 2018 2019 w00 Yeer

{(a} Mmﬂ»gmm.mdnmﬂmmwﬁm?mma x|
popiiation of bird X7

Qusstion 33 continuies on the nexd page
Ploase do not write in the margin.
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Question 33 continuad

mamwmmmwmmm
mmmmmmmmmawx

@

puting up signs o puiting spikae on the
d-wm:opeoﬂo roof of buiidings whers .
from feading X bird X buikds nests

) Explain how the two actions help to dacrense e population of bird X.
]

Plaase do not write in the margin,
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(a)

Quastion 34 continues un the next page

Please do not writs In the mwrgin,

How does the aigas and fungl benedit sach other? 2
Baneiit for algoe:
Qrganism L. Is commonly found on tres frunks as showe bolow.
it i sasly harmed by polictants in the air.
oo trunk
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Quastion 34 continsed
‘The graphs below show the number of factosies and the populafion of
urwml.hdw&mzpslodofﬂnm
Number of factories
I l > Year
2014 2012 2013 2014 2018
Population of organiem L.

)y Yoor
2011 2042 2013 2014 2018

Mwmmhmmdmhwamm
o change In te populsion of organism L.

Pleane do not write in the margin.
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35 The diagrem shows the inrva of insect M.

faevs of insect M

{(8)  How many stages srs there in the ifs cycle of insect M? M)
Glive & reastn for your snower.

The larves of Insoct M makes & Case with bwo openings. At can cud s body
in the case snd amargs st oither end of the openings as shown delow,

(v} The larva ramaing It She case most of the ine end carvies the case with  [1]
& averywhons R goos, How doos this beliaviour ensurs its survival?

Please do not write in the margin.
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38,

{e)

®}

10

Lea designed & toy ae shown in the disgram below,

Waster from the tank dripped into the cup thet was fixed onto 2 wooden
m.l

VWhen the cup wes flled up with walee, & moved down. This in um
caussd the other snd of the wooden rod fo move up and hit the wooden
Block.

Lae couskd hoer a ‘click’ when the two wooden surfaces hit each other.

wmmmmmwmmm. ¥

Descride the change Lee would cbeerve if he were to make the holein  [2}
the water tank bigger and waler drip out faster.

BExplain your atxswver.

Plsase do not wiite In the margin.
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{a)

®)

11
Sue was Investijating the sffects of heat trasweter,
She first recorded the temperaiiire of the alr In 4 container as shown [n
sat-up A. Then she placad some hot stones in sel-up B and sealed the
opaning as shown in seéup B,

She measured and recorded the temperature of el in the botlie as shown
n setap B,

What happena (0 the temiperature of alr measured If the thermomater is
placed closer 1o the hot stones in set-up B?
Giva a reason for your angwer,

t

:uar:gigmmmmtammmmmm

This wilt keep the food in the refrigarator cold. Sus’s mathar toid her that
she shoudd allow hot food to coot before placing it in refrigerator.

How wil hiz help Sue sava slectriolty?

[*]

Please do not write In the margin.
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12
48, Janel bulli an electrical sysiom for the raclio and fan in the ciagram below.
W s an ron rod wishy wires colled sround R P andd Q are 2 sheel contacls,

Whils P is fixed, Q oan move sikieways as i I8 attached io metal rod X
which can move a8 it is on a hinge.

—c [Mw

x|l

&9 82
Nota: hinge
81 switch 1
82— switch 2

(a) Which slecirical appliance, fan or radio, will be able to function when 51 [1]
i closed and $2 Is cpen’?

b} Whan Janel switched on tha o, cam she switch on the fan af the same
time?
Explaln your snswer. ¥ i}

Janel mads the following siatement.

1G

Quesion 38 continuss on the next page

Ploase do not wiite in the margin.
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13

Cuiostion 38 continuied
{)  Expisinwhy
0 Jenel couid be wrong. [1]
() Janel couid be ooerect, o 'm
Mdcmwmmmm
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(8)

)

{c)

{d)

L

Asher look & tub of ice cream from the freezer and placed it on the table,
Ha trisd to scoop ihe frazen jos cream out using a metal spoan info &
oup, but the e cream was oo hard,

What could Asher do to the metal spoon so that he could scoop the ice  [1]
mmmmmmmm

Explein your anewes I (a). 1)

After 10 minutss, he noticed that there were tiny water droplets formed
on e outer surface of the jos cream tub.

Explaln how the tiny water droplets were formed. 2l

Asher piaced the ioe cream tub back into the fraezar. The next day, when
e took the loe cream tub out from the freezer, he noticed that a thin layer
of ice had formed on the outer surface of the tub.

Wawhemptma\ommudmﬁomm [13

Pleass do not write in the margin.
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{2)

can be made bry pedaliing on the bicyde instead,

Fii in the boxes below with the corract fonns of snargy when Gilllan 1}
mwmm.

snargy | oneigy enurgy
The diagram below shows a bicyvis wih a biender attached. Smoocthles

Cuealion 40 continues on next page.

Pleass do rot write in the margin,
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16
Question 40 oontinued

mmmuwamwmma
Wﬁu\emmm

>
Speed of pedaliing (minin)

Based on the abovs, what Is the relationship between the apeed  {t]
) a&m’ﬁwamdumm

{c) State the source of energy for Glian when she is pedaling the bicydle [1]
o maks the smoothies.

Pleass do not write in the margin.
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41.  Shudy the diagrem below, When thae bution (s pressed down, the metal
lever will move,

hﬁn tatal lover bub A
“W"z

| 0

buk 8

(a)  Which buib(s) will ight up when a person ]
{i} pressos the bulton?
(B) raisases the bution?

(b}  Explain your arswer in (a){§). (1

{€)  Jaydan repiaced e metal spring with a stiffer metal spring.

YW ho need 1o apply mone, less or the sane amount of force o awilch  [1)
on bulb AT

END OF BOOKLET B

Pleass do not write in the margin,
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will bs fewer butterflies 10 poliinate Gowers.

31a

No. It has more than 6 logs.
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Living Gings tespond o changes.
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#ts pradators may 1ol apot i easlly in the dark.

oxygen
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1 Add more hydrila pieois.

Carry out the experiment In a derk room.

nmﬂsﬂwpopwmﬁbkdx

Thara will be leas food for bind X

There will ba fewer places for bird X 1o lay epgs.

FEEFE

Benofi for aigae: The fungt provide waster for the aigas to make food,
Benefit for fungk: They teke In the food mads by the algae.

As the number of factories increases, the population of organism L decreases.
The factories release polkiants thal harm organism L.

4mmWGWWMQM‘E§hMIﬁW..

{t is profocied from B predmiors.

FgR E

Az e webar fills the cup, I bacomes hamver and moves down. As water flows
out of e oup, Kk bacomes lighter ikl Moves up.
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The "cick’ sound is heand more fraquently. More watsr drips out and e cup fils
up faster, 5o it moves down more frequently.

The tempersture will be highet. The alr neamr the stones gains mors hest from
the sionés.

The air inslde the refrigerator will gain less heat from the food, loes elacirical
energy ks neadod to maintain $he alr at 10°C. |

Fan

No. Whan £2 & switched on, slectricily fiows through the ciroult and W
bacomeas an elsciromagnet and attracts Q and tha dircult for the fan Is open.

The unilke poles are facing sach other, the megnet and slectromagnet attract

mmmmmmumbw

The ke polez ang facing each other, the magnet and aleciromagnet repel and

- both clcuits remadn closed,

Heal up Bhe metal spoon.

mmmmmmmwmm

The water vapour in the surrounding alr comss Info contact with v cooler
mammmmmwmmmmm

Elecirical, Kinelic, Sound / Heat

As the speed of padafiing increases, the lovel of smoothness increases sl a
oartaln poink aftar which the speed of pedaliing does not affect the level of
smoothness.

Food

() AandB )8

A closed circuit Is formaed with bulb B and & lights up bt the clrcult with Hulb A is
open.

Ko
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